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1. A muscle known for tailor master:

( C .Sartorius)

2.Which of the quadricep femoris muscles performs extension as well as flexion?

( D.Rectus femoris)

3.  Which of the following muscles crosses two joints?

( D.Rectus femoris)

4.  It is the largest and longest bone of the body:

( B. Femure)

5.  It is the union of three bones:

( C. Hip bone)

6. The true foot drop occurs because of:

( B.common personal)

7.Peripheral hearts are located in:

( D.leg)
8.Which of the following structure does not take part in the formation of the knee joint?

( B.Head)

9. It is inserted to the quadrate tubercle:

( C. Quadratus femoris.)

10. How many tarsal bones are there?

( .  7 in number)
( Part .  02 )

1.  GIVE REASONS:
a) Why hip joint is more stable than shoulder joint?

( Answer) .  : .  Hip joint is more stable than shoulder joint because

Of many reasons:

1 :. In hip joint the femoral head lies deeper in acetabulum which increases its stability 

2:. .  the muscles and ligaments of hip joint is much bigger and stronger due to which the range of the movement of hip is lower than shouldet and hip joint become more stable than shoulder .

03:::  Also Negative pressure exist in hip joint which increases its stability 

( Question no 3 .C)

Q. Why varicose veins are more common in prolonged standing working persons?

( Ans):::

 Varicose veins are more common in prolonged standing working person because standing for long time can cause blood to pool in leg veins which increases the pressure in vein and varicose veins occurs and in working person blood pressure is high during to work due to which varicose veins are more common in prolonged standing working persons.

( Question no 02)
2. What do you know about the ligaments of hip joint?

Ans. 

The hip joint is strenghtend by four ligaments three are extracapsular ligaments are 

( 1) ( illiofemoral ligaments.):.

This is y shaped ligaments that connect the pelvis to the femoral head at the front of joint .this helps in limiting overextension of hip.

This is the strogest ligaments in the body.

( 2) . ( Ischiofemoral ligament) :.

This ligaments origanates in the rim of acetabulam and turns laterally as it ascends to insert upon the inferomedial aspect of greater trochanter .

Its function in coherence with illiofemoral ligaments and prevents excessive medial rotation of thigh.

( 3). ( pubofemoral ligament ):.

This ligament originatEs from pubis ramus and merges inferolaterally into the illiofemoral ligament but may also have an attachement with femoral neck .its functions is to limit the lateral movement this ligament tightens during extension or abduction  intacapsular ligaments are 

(1) Liagamentum teres:.

This s a small ligamet that extends from the tip of femoral head to acetabulam also it has no role in hip movement .

( Question no 04)

4.Write a note on the transverse arch of the foot. 

( Ans). ( Transverse arch of foot :.)

This arch lies in coronal plane formed by the three cuniforms the cuboid and the basis of five metatarsals ligaments the tibialis posterior tendons and peroneus logus assist in the maintaning the currature of the arch as they attach at the planter aspect of the foot planter ligament ( short planter ,long planter caleaneonavicular ligaments) and deep transverse metatarsal ligaments support this arch.

( Question part" B")


b) Why flexor compartment of lower limb is directed posteriorly?

( Ans):.

Due to its origin of the lower limb because when we flexes the lower limb so we take posterior side of its flexion , for this purpose flexor compartments of lower limb is directly posterioly.

( Question no.3)

3.Write a note on the movements and stability of talocrural joint. 

(Ans): Stability of the talocrural joint:.

The stability of the talocrural joint are very important for its oblique rotation along with axis and its from specific shape of the talus , when we moved the anterior pasition for long time so that joint adopted a unstable position during in planter flexion .

( movement occur of the talocrural joint):.

Different muscles and movements are involved in talocrural joint .when movement in one plane .

( Function of ankle joints):.

1.planter flexion 

2. Dorsiflexion

Whil eversion and inversion are also producd at other joint.

(The End)
